
1. Να συγκρίνετε τα παρακάτω μήκη χρησιμοποιώντας τα σύμβολα >,<,=.

8.000 μ.         9.500 χιλ.                                        49,1 μ.              4.910 χιλ.

150 εκ.          1μ. 5 δεκ.                                        0,5 εκ.             1,5 χιλ.

8,4 χλμ.             84.000 εκ.                                    8 χλμ. 9μ.          8,9 χλμ.

 650                                                                      0,02 δεκ.              20 χιλ.
100      μ.             65 δεκ.                             

2. Συμπλήρωσε τον πίνακα, όπως στο παράδειγμα.


